[Roll Number

Candidate Name

Test Center Name

Test Date 17/06/2022

Test Time 4:30 PM - 6:00 PM
Subject Level 3

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.

2. Chosen option on the right of the question indicates the option selected by the candidate.

Section : NTPC

QA1

Ans 1.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351964
1151357853
1151357854
1151357856
1151357855
Answered
4

Q.2

Ans 1.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352346
1151359381
1151359382
1151359384
1151359383
Answered
2




Q.3

Ans

Question ID

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

: 1151352378
1151359509
1151359510
1151359511
1151359512
Answered
4

Q.4

Ans g1,

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

Chosen Option :

: 1151352377
1 1151359508
: 1151359507
1 1151359506
: 1151359505
: Answered

1

Q.5
Ans 1.

Question ID

Option 2 ID
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1 1151351603
Option 11D :

1151356412

1 1151356410

1151356411
1151356409
Answered
3




Q.6

Ans 1.
2.
3.
o 4.
Question ID : 1151351633
Option 1 ID : 1151356530
Option 2 ID : 1151356529
Option 3 ID : 1151356532
Option 4 ID : 1151356531
Status : Answered
Chosen Option : 4
Q.7
Ans & 1. 17
2. 14
3. 16
4. 15
Question ID : 1151351616
Option 1 ID : 1151356461
Option 2 ID : 1151356462
Option 3 ID : 1151356463
Option 4 ID : 1151356464
Status : Not Answered
Chosen Option : --
Q.8
Ans
1.
o 2.
3.
4.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351622
1151356487
1151356488
1151356486
1151356485
Answered

2




Q.9

Question ID : 1151351621
Option 1 1D : 1151356483
Option 2 ID : 1151356484
Option 3 ID : 1151356481
Option 4 ID : 1151356482
Status : Answered
Chosen Option : 1

Question ID : 1151352351
Option 1 ID : 1151359404
Option 2 ID : 1151359401
Option 3 ID : 1151359402
Option 4 ID : 1151359403
Status : Answered
Chosen Option : 4

Ans o 1.
2.
3.
4.
Q.10
Ans 1.
2.
3.
o 4.
Qn
Ans 1
2.
3.
4.

Question ID : 1151351983
Option 1 ID : 1151357931
Option 2 ID : 1151357930
Option 3 ID : 1151357929
Option 4 ID : 1151357932
Status : Answered
Chosen Option : 1




Q.12

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352336
1151359341
1151359342
1151359344
1151359343
Answered
4

Q.13

Ans

& 3.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :
03

Chosen Option

1151351614
1151356456
1151356454
1151356455
1151356453
Answered

Q.14

Ans

& 1.

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352342
1151359367
1151359368
1151359365
1151359366
Answered

2




Q.15

Question ID : 1151351978
Option 1 ID : 1151357909
Option 2 ID : 1151357912
Option 3 ID : 1151357910
Option 4 ID : 1151357911
Status : Answered
Chosen Option : 4

Question ID : 1151351965
Option 1 ID : 1151357857
Option 2 ID : 1151357858
Option 3 ID : 1151357859
Option 4 ID : 1151357860
Status : Answered
Chosen Option : 1

Ans 1. 13
2. 16
3. 14
4 15
Q.16
Ans o 1.
2.
3.
4.
Q.17
Ans 1.
2.
3.
W 4.

Question ID : 1151352338
Option 1 ID : 1151359352
Option 2 ID : 1151359350
Option 3 ID : 1151359351
Option 4 ID : 1151359349
Status : Answered
Chosen Option : 3




Q.18

Ans 1.

2. X
3

Question ID

Option 11D :
Option 21D :
Option 31D :

Option 4 ID

Status :
Chosen Option :

1 1151352361
1151359441
1151359442
1151359443
1 1151359444
Answered

3

Q.19

Ans 1. 7

Question ID :
Option 11D :

Option 2 ID
Option 31D :
Option 4 ID
Status :

Chosen Option :

1151351969
1151357874

: 1151357875

1151357873

: 1151357876

Answered
1

Q.20

Ans 1.

Question ID :
Option 1 ID
Option 21D :
Option 3 ID
Option 4 ID
Status

Chosen Option :

1151351962

1 1151357845

1151357848

: 1151357846
: 1151357847
: Not Answered




Ans 1. 60000 sq.m

2. 70000 sg.m
3. 80000 sq.m

4 90000 sq.m

Q.21 The cost of cultivating a square field at the rate of 2320 per hectare is 32880. Find its area.
(Use 1 hectare = 10000 sq.m)

Question ID

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

: 1151351634
1151356535
1151356536
1151356533
1151356534
Answered

4

Q.22

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352355
1151359419
1151359417
1151359420
1151359418
Answered

3

Q.23

Ans 1.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

1151352367
1151359467
1151359465
1151359468
1151359466
Answered

Chosen Option : 3




Q

2.1636 sq.m
3.1736 sq.m

« 4. 1536 sq.m

Ans 1 1436 sq m.

24 Find the area of a rhombus whose diagonals are 48m and 64m long.

Question ID :
Option 11D :

Option 2 ID

Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351629
1151356516
: 1151356514
1151356513
1151356515
Answered
4

Q.25

Ans

Question ID
Option 1 ID
Option 2 ID
Option 3 1D
Option 4 ID

Status

Chosen Option :

: 1151352353
: 1151359409
1 1151359411
1 1151359412
1 1151359410
: Answered

1

Q.26

Ans 1.

Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1 1151351623

1151356490

1 1151356491

1151356492
1151356489
Answered

2




Q.27

Ans g1
2.
3.
4.
Question ID : 1151352383
Option 1 ID : 1151359530
Option 2 ID : 1151359532
Option 3 ID : 1151359531
Option 4 ID : 1151359529
Status : Answered
Chosen Option : 1
Q.28
Ans 1. 5]
o 2.
3.
4.
Question ID : 1151352384
Option 1 ID : 1151359536
Option 2 ID : 1151359533
Option 3 ID : 1151359535
Option 4 ID : 1151359534
Status : Answered
Chosen Option : 4
Q.29
Ans 1. C
2. A
3. D
4 B
Question ID : 1151351967
Option 1 ID : 1151357867
Option 2 ID : 1151357865
Option 3 ID : 1151357868
Option 4 ID : 1151357866
Status : Answered
Chosen Option : 2




Q.30

Ans o1
2.
3.
4.
Question ID : 1151352368
Option 1 ID : 1151359471
Option 2 ID : 1151359470
Option 3 ID : 1151359469
Option 4 ID : 1151359472
Status : Answered
Chosen Option : 3
Q.31
Ans 1.
2.
" 3.
4.
Question ID : 1151351977
Option 1 ID : 1151357905
Option 2 ID : 1151357907
Option 3 ID : 1151357908
Option 4 ID : 1151357906
Status : Not Answered
Chosen Option : --
Q.32
Ans 1
o 2.
3.
4.

Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1 1151352358

1151359431

1 1151359429

1151359432
1151359430
Answered
4




Q.33

Ans g1,
2.
3.
4.
Question ID : 1151352339
Option 1 ID : 1151359353
Option 2 ID : 1151359356
Option 3 ID : 1151359355
Option 4 ID : 1151359354
Status : Not Answered
Chosen Option : --
Q.34
Ans 1.
o 2.
3.
4.
Question ID : 1151351627
Option 1 ID : 1151356506
Option 2 ID : 1151356507
Option 3 ID : 1151356508
Option 4 ID : 1151356505
Status : Not Answered
Chosen Option : --
Q.35
Ans 1.
o 2.
3.
4.

Question ID :

Option 1 ID

Status

1151352369

1 1151359473
Option 21D :
Option 31D :
Option 4 ID :

1151359476
1151359474
1151359475

: Answered
Chosen Option :

2




Q.36

Ans g1,
2.
3.
4.
Question ID : 1151351973
Option 1 ID : 1151357891
Option 2 ID : 1151357892
Option 3 ID : 1151357889
Option 4 ID : 1151357890
. Not Attempted and
Status : Marked For Review
Chosen Option : --
Q.37
Ans 1.
o 2.
3.
4.
Question ID : 1151351974
Option 1 ID : 1151357894
Option 2 ID : 1151357893
Option 3 ID : 1151357895
Option 4 ID : 1151357896
Status : Answered
Chosen Option : 4
Q.38
Ans 1. 16
2.
3. 31
o 4. 11
Question ID : 1151351612
Option 1 ID : 1151356448
Option 2 ID : 1151356445
Option 3 ID : 1151356446
Option 4 ID : 1151356447
Status : Answered
Chosen Option : 4




Q.39

Ans 1.
o 2.
3.
4.
Question ID : 1151352343
Option 1 ID : 1151359372
Option 2 ID : 1151359369
Option 3 ID : 1151359371
Option 4 ID : 1151359370
Status : Not Answered
Chosen Option : --
Q.40
Ans
1.
o 2.
3.
4.
Question ID : 1151351602
Option 1 ID : 1151356408
Option 2 ID : 1151356407
Option 3 ID : 1151356405
Option 4 ID : 1151356406
Status : Not Answered
Chosen Option : --
Q.41
Ans 1.
o 2.
3.
4.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352356
1151359421
1151359423
1151359424
1151359422
Answered
4




Q.42

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352370
1151359477
1151359479
1151359480
1151359478
Answered

2

Q.43

Ans

v

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351626
1151356501
1151356503
1151356502
1151356504
Answered
4

Q.44

Ans

3.

Question ID :
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID
Status :

Chosen Option :

1151351986
1151357941

1 1151357942

1151357944

1 1151357943

Answered
3




Q.45

Ans

3.

Question ID :

Option 1 ID

Option 21D :

Option 3 ID

Option 4 ID :

Status

Chosen Option :

1151351970
: 1151357878
1151357879
: 1151357877
1151357880
: Answered
3

Q.46

Ans

1.

=
32

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351979
1151357916
1151357915
1151357913
1151357914
Answered

1

Q.47

Ans

& 3.

Question ID
Option 1 ID
Option 21D :
Option 3 1D
Option 4 ID :
Status

Chosen Option :

1 1151351620
1 1151356480

1151356479

1 1151356478

1151356477

: Not Answered




Q.48

Ans “ 1.
2.
3.
4.
Question ID : 1151351613
Option 1 ID : 1151356450
Option 2 ID : 1151356449
Option 3 ID : 1151356451
Option 4 ID : 1151356452
Status : Answered
Chosen Option : 1
Q.49
Ans 1.
2.
3.
W 4.
Question ID : 1151352366
Option 1 ID : 1151359462
Option 2 ID : 1151359463
Option 3 ID : 1151359464
Option 4 ID : 1151359461
Status : Answered
Chosen Option : 3
Q.50
Ans 1.

2. Javelin throw

3.

o 4

Question ID : 1151352340
Option 1 ID : 1151359357
Option 2 ID : 1151359358
Option 3 ID : 1151359360
Option 4 ID : 1151359359
Status : Answered
Chosen Option : 2




Q.51

Ans

2.5
37

Question ID :
Option 11D :

Option 2 ID

Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352373
1151359489
1 1151359491
1151359492
1151359490
Answered

3

Q.52

Ans

Question ID

Option 11D :

Option 2 ID

Option 4 ID
Status :
Chosen Option :

1 1151352363
1151359450

1 1151359452
Option 31D :

1151359449

1 1151359451

Not Answered

Q.53

Ans

o 4

Question ID :
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID
Status :

Chosen Option :

1151351971
1151357884

1 1151357883

1151357881

1 1151357882

Answered
4




Q.54

Ans

3.

Option 1 ID

Option 3 ID

Status

Question ID :

Option 21D :

Option 4 ID :

Chosen Option :

1151352385
1 1151359538
1151359540
1 1151359537
1151359539
: Answered

3

Q.55

Ans

o 3.

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option

: 1151351628
: 1151356511
: 1151356510
: 1151356509
: 1151356512
: Answered
03

Q.56

Ans

« 1. 8
2. 4
3. 12
4.6

Question ID :
Option 1 ID
Option 21D :
Option 3 ID
Option 4 ID :
Status :

Chosen Option :

1151351619

1 1151356475

1151356473

: 1151356476

1151356474
Answered
1




65, 180, 81, 6,63, 27, 122, 8, 165, 50
Ans 1.

2.
3.

Q.57 Given are the scores of a batsman in the last 10 innings. Find the median score of
the batsman in these innings.

Question ID

Option 11D :

Option 2 ID

Option 31D :

Option 4 ID

Status :

Chosen Option

: 1151351617
1151356466
: 1151356467
1151356468
: 1151356465
Answered
12

Q.58

Ans 1.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351985
1151357939
1151357938
1151357940
1151357937
Answered

2

Q.59

Ans 1.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352371
1151359484
1151359482
1151359483
1151359481
Answered
4




Q.60

Ans
o 1.
2.
3.
4.
Question ID : 1151351604
Option 1 ID : 1151356416
Option 2 ID : 1151356413
Option 3 ID : 1151356415
Option 4 ID : 1151356414
Status : Answered
Chosen Option : 1
Q.61
Ans 1.
2.
3.
o 4.
Question ID : 1151351987
Option 1 ID : 1151357945
Option 2 ID : 1151357947
Option 3 ID : 1151357948
Option 4 ID : 1151357946
Status : Answered
Chosen Option : 4
Q.62
Ans o 1.
2.
3.
4.
Question ID : 1151351966
Option 1 ID : 1151357864
Option 2 ID : 1151357861
Option 3 ID : 1151357863
Option 4 ID : 1151357862
Status : Answered

Chosen Option :

1




Q.63

Ans 1.

3.

Question ID : 1151352347

Option 11D
Option 2 ID
Option 3 ID
Option 4 ID

Status :
Chosen Option :

: 1151359386
: 1151359387
: 1151359388
: 1151359385
Answered

3

Q.64

Ans 1

Question ID :
Option 11D :

Option 2 ID

Option 4 ID

1151352379
1151359516

: 1151359515
Option 31D :

1151359513

: 1151359514
Status :
Chosen Option :

Answered
4

Q.65

Ans 1.

Question ID :
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID
Status :

Chosen Option :

1151351975
1151357897

1 1151357899

1151357898

1 1151357900

Answered
2




Q.66

Ans
o 1.
2.
3.
4.
Question ID : 1151352382
Option 1 ID : 1151359527
Option 2 ID : 1151359526
Option 3 ID : 1151359525
Option 4 ID : 1151359528
Status : Not Answered
Chosen Option : --
Q.67
Ans 1.
2.
o 3.
4.
Question ID : 1151352380
Option 1 ID : 1151359517
Option 2 ID : 1151359519
Option 3 ID : 1151359520
Option 4 ID : 1151359518
Status : Answered
Chosen Option : 4
Q.68
Ans 1. B
2. A
« 3 D
4. C

Question ID : 1151351990
Option 1 ID : 1151357958
Option 2 ID : 1151357957
Option 3 ID : 1151357960
Option 4 ID : 1151357959
Status : Answered
Chosen Option : 3




Q.69

o 1.
2.

3.

Ans
1.
2.
3.
o 4.
Question ID : 1151352354
Option 1 ID : 1151359415
Option 2 ID : 1151359413
Option 3 ID : 1151359416
Option 4 ID : 1151359414
Status : Answered
Chosen Option : 1
Q.70
Ans 1.
2.
" 3.
4.
Question ID : 1151352365
Option 1 ID : 1151359458
Option 2 ID : 1151359460
Option 3 ID : 1151359459
Option 4 ID : 1151359457
Status : Not Answered
Chosen Option : --
Q7 gimplify the following expression:
3.5 x 0.5 x (4.4 — 0.625 ~ 1.5625)
Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351609
1151356434
1151356436
1151356435
1151356433
Answered

2




Q.72

Ans 1.
2.
3.
& 4.
Question ID : 1151351984
Option 1 ID : 1151357935
Option 2 ID : 1151357933
Option 3 ID : 1151357934
Option 4 ID : 1151357936
Status : Not Answered
Chosen Option : --
Q.73
Ans 1.
o 2.
3.
4.
Question ID : 1151352362
Option 1 ID : 1151359448
Option 2 ID : 1151359447
Option 3 ID : 1151359445
Option 4 ID : 1151359446
Status : Not Answered
Chosen Option : --
Q.74
Ans 1.
o 2.
3.
4.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351980
1151357918
1151357917
1151357919
1151357920
Not Answered




Q.75 A solid right-circular cone is 11.2 cm high and the radius of its base is 2.8 cm. If the cone is

melted and recast into a sphere, then what will be the diameter of the sphere?

Ans 1.
2.
3.
o 4.
Question ID : 1151351605
Option 1 ID : 1151356420
Option 2 ID : 1151356418
Option 3 ID : 1151356417
Option 4 ID : 1151356419
Status : Answered
Chosen Option : 1
Q.76
Ans o 1.
2.
3.
4.
Question ID : 1151351608
Option 1 ID : 1151356429
Option 2 ID : 1151356430
Option 3 ID : 1151356431
Option 4 ID : 1151356432
Status : Not Answered
Chosen Option : --
Q.77
Ans s
2.
3.
4.

Question ID : 1151352372
Option 1 ID : 1151359485
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151359488
1151359486
1151359487
Answered

1




Q.78

Ans o 1.
2.
3.
4.
Question ID : 1151351963
Option 1 ID : 1151357852
Option 2 ID : 1151357849
Option 3 ID : 1151357851
Option 4 ID : 1151357850
Status : Answered
Chosen Option : 1
Q.79
Ans 1. 2
o 2.
3.
4. 2.
Question ID : 1151351625
Option 1 ID : 1151356497
Option 2 ID : 1151356499
Option 3 ID : 1151356498
Option 4 ID : 1151356500
Status : Answered
Chosen Option : 2
Q.80
Ans 1. 4
2.3
3.1
4 2
Question ID : 1151351992
Option 1 ID : 1151357968
Option 2 ID : 1151357967
Option 3 ID : 1151357965
Option 4 ID : 1151357966
Status : Not Answered

Chosen Option :




Q.81

Ans

Question ID :

Option 1 ID

Option 21D :

Option 3 ID

Option 4 ID :
Status :
Chosen Option :

1151352375
: 1151359499
1151359500
1 1151359497
1151359498
Answered
4

Q.82

Ans g1,

Question ID
Option 11D
Option 2 ID
Option 3 ID
Option 4 ID

Status

Chosen Option :

: 1151352352
: 1151359406
: 1151359408
1 1151359407
: 1151359405
: Answered
4

Q.83

Ans 1.

Question ID

Option 2 ID
Option 31D :
Option 4 ID :
Status :

Chosen Option :

: 1151351610
Option 11D :

1151356437

1 1151356439

1151356440
1151356438
Not Answered




Q.84

Ans o 1.
2.
3.
4.
Question ID : 1151351630
Option 1 ID : 1151356518
Option 2 ID : 1151356517
Option 3 ID : 1151356520
Option 4 ID : 1151356519
Status : Answered
Chosen Option : 1
Q.85
Ans 1.
2.
3.
4.
Question ID : 1151352337
Option 1 ID : 1151359345
Option 2 ID : 1151359346
Option 3 ID : 1151359348
Option 4 ID : 1151359347
Status : Not Answered
Chosen Option : --
Q.86
Ans 1.
o 2.
3.
4.

Question ID :
Option 1 ID
Option 21D :
Option 3 ID
Option 4 ID :
Status :

Chosen Option :

1151352350

1 1151359400

1151359397

: 1151359398

1151359399
Answered
3




Q.87

Ans

2.

Question ID :

Option 1 ID

Option 21D :

Option 3 ID

Option 4 ID :
Status :
Chosen Option :

1151351976
1 1151357903
1151357901
: 1151357902
1151357904
Answered

2

Q.88
Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352341
1151359362
1151359364
1151359363
1151359361
Answered

2

Q.89

Ans

3 H
V4N

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351988
1151357952
1151357949
1151357951
1151357950
Answered
4




Q.90

Ans 1. 15
2 13
3. 11
4. 14
Question ID : 1151351972
Option 1 ID : 1151357888
Option 2 ID : 1151357885
Option 3 ID : 1151357887
Option 4 ID : 1151357886
Status : Not Answered
Chosen Option : --
Q.91
Ans o 1. 23
2.
3. 25
4. 22
Question ID : 1151351981
Option 1 ID : 1151357922
Option 2 ID : 1151357923
Option 3 ID : 1151357924
Option 4 ID : 1151357921
Status : Not Answered
Chosen Option : --
Q.92
Ans 1. 12
2. 20
3. 16
4. 8

Question ID : 1151351632
Option 1 ID : 1151356526
Option 2 ID : 1151356528
Option 3 ID : 1151356527
Option 4 ID : 1151356525
Status : Answered
Chosen Option : 3




Q.93

Ans o1
2.
3.
4.
Question ID : 1151351635
Option 1 ID : 1151356537
Option 2 ID : 1151356539
Option 3 ID : 1151356540
Option 4 ID : 1151356538
Status : Answered
Chosen Option : 4
Q.94
Ans ’ 1.
2.
3.
4.
Question ID : 1151351982
Option 1 ID : 1151357925
Option 2 ID : 1151357927
Option 3 ID : 1151357928
Option 4 ID : 1151357926
Status : Answered
Chosen Option : 1
Q.95
Ans 1.
2.
3.
o 4.

Question ID : 1151352357
Option 1 ID : 1151359426
Option 2 ID : 1151359428
Option 3 ID : 1151359425
Option 4 ID : 1151359427
Status : Answered
Chosen Option : 4




Q.96

Ans

& 3.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352349
1151359394
1151359393
1151359396
1151359395
Answered

2

Q.97

Ans

o 1. 59

2.

3. 4%

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351615
1151356458
1151356460
1151356457
1151356459
Answered

1

Q.98

Question ID :
Option 1 ID
Option 21D :
Option 3 ID
Option 4 ID :
Status

Chosen Option :

1151351631

1 1151356524

1151356521

1 1151356522

1151356523

: Answered

1




Q.99

Ans

Question ID : 1151352374
Option 1 ID : 1151359494
Option 2 ID : 1151359493
Option 3 ID : 1151359495
Option 4 ID : 1151359496
Status : Answered
Chosen Option : 1

Q.100 Ravi has 1530 eggs with him while Vinita has 2380 eggs with her that needs to be placed in cartons. What is the
maximum number of eggs that each carton should hold so that both Ravi as well as Vinita find such cartons
acceptable to use, leaving no empty space, nor having any egg unpacked?

Ans 1.
o 2.
3.
4.

Question ID : 1151351606

Option 1 ID : 1151356424

Option 2 ID : 1151356422

Option 3 ID : 1151356421

Option 4 ID : 1151356423

Status : Answered
Chosen Option : 2
Q.101

Ans 1.
2.
3.
o 4.

Question ID : 1151351601
Option 1 ID : 1151356403
Option 2 ID : 1151356401
Option 3 ID : 1151356404
Option 4 ID : 1151356402
Status : Answered
Chosen Option : 4




Q.102

Ans 1
2.
" 3.
4.
Question ID : 1151352376
Option 1 ID : 1151359501
Option 2 ID : 1151359503
Option 3 ID : 1151359502
Option 4 ID : 1151359504
Status : Answered
Chosen Option : 3
Q.103
Ans 1.
2.
3.
o 4.
Question ID : 1151352344
Option 1 ID : 1151359373
Option 2 ID : 1151359374
Option 3 ID : 1151359375
Option 4 ID : 1151359376
Status : Not Answered
Chosen Option : --
Q.104
Ans o 1.
2.
3.
4.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351618
1151356470
1151356471
1151356469
1151356472
Answered

1




Q.105

Ans

& 3.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352359
1151359433
1151359435
1151359434
1151359436
Answered

3

Q.106

Ans

1.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351607
1151356426
1151356427
1151356425
1151356428
Answered

1

Q.107

Ans

v

Question ID

Option 2 ID
Option 3 ID

1 1151351993
Option 11D :

1151357971

: 1151357970
: 1151357969
Option 4 ID :
Status :

Chosen Option :

1151357972
Not Answered




Q.108 In covering a distance of 60 ki, Arjun takes 2 hours more than Rohit. If Arjun doubles his speed,
then he would take 1 hour less than Rohit. Arjun's original speed is:

Ans 1.
2.
3.
o 4.
Question ID : 1151351624
Option 1 ID : 1151356495
Option 2 ID : 1151356496
Option 3 ID : 1151356493
Option 4 ID : 1151356494
Status : Answered
Chosen Option : 4
Q.109
Ans 1.
o 2.
3.
4.
Question ID : 1151352345
Option 1 ID : 1151359378
Option 2 ID : 1151359379
Option 3 ID : 1151359377
Option 4 ID : 1151359380
Status : Answered
Chosen Option : 1
Q.110
Ans 1. Y
2.7 3%
3..&
4 T

Question ID : 1151351961
Option 1 ID : 1151357843
Option 2 ID : 1151357841
Option 3 ID : 1151357842
Option 4 ID : 1151357844
Status : Not Answered
Chosen Option : --




Q.11

Ans

& 3.

Question ID

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

: 1151351968
1151357869
1151357872
1151357871
1151357870
Answered

3

Q.112
Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352348
1151359392
1151359389
1151359390
1151359391
Answered

3

Q113

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

1151351989
1151357955
1151357954
1151357956
1151357953
Answered

Chosen Option : 2




Q.114

Ans

& 1.

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

: 1151352360
: 1151359440
: 1151359439
: 1151359437
: 1151359438
: Answered

Chosen Option : 4

Q115

Ans 1.

& 3.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351611
1151356441
1151356444
1151356443
1151356442
Answered
4

Q.116

Ans 1.

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352364
1151359454
1151359453
1151359456
1151359455
Not Answered




Q117

Ans 1
o 2.
3.
4,
Question ID : 1151351994
Option 1 ID : 1151357974
Option 2 ID : 1151357973
Option 3 ID : 1151357976
Option 4 ID : 1151357975
Status : Answered
Chosen Option : 3
Q.118
Ans 1.
o 2.
3.
4.
Question ID : 1151352381
Option 1 ID : 1151359523
Option 2 ID : 1151359522
Option 3 ID : 1151359521
Option 4 ID : 1151359524
Status : Not Answered
Chosen Option : --
Q.119
Ans 1.
22N
3. K
o 4.

Question ID : 1151351991
Option 1 ID : 1151357963
Option 2 ID : 1151357964
Option 3 ID : 1151357962
Option 4 ID : 1151357961
Status : Not Answered
Chosen Option : --




Q.120

Ans

1.

Question ID :
Option 11D :
1 1151357979
Option 31D :
1 1151357977

Status :
Chosen Option :

Option 2 ID

Option 4 ID

1151351995
1151357978

1151357980

Answered
1






